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Complex Cognltlve Skl”S (Van Merriénboer, 1997)

Complex cognitive skills* |
Cognitive skills ‘ Motor skills ‘

— Complex cognitive skills can be learned based on standard operating procedures
(SOP) (Wickens & Hollands, 2000)

— Such complex tasks in non-routine situations can consist of e.qg. fixed, sequential
tasks or parallel tasks:

— In fixed, sequential tasks the operators need to figure out first what kind of task
has to be executed (e.g. start-up of a plant or error management) and then
execute the initial learned standard operating procedures sequentially (kiuge, 2014)

* synonyms: High performance skills, complex technical skills, industrial skills



Testing effect is explained by (Bjork & Bjork, 1992; Roediger & Karpicke, 2006) @ ‘
J
v

Testing-effect and complex cognitive skills

1) the intense retrieval effort that learners have to invest in the testing
situation to retrieve information from long-term memory

2) atransfer enhancing processing of information which is identical in the \/‘/
refresher situation and the later retention assessment (RA) situation

— Testing effect has been shown for simple task (e.g. word lists) (e.g., Carpenter et al., 2006;
Carpenter et al., 2008; Karpicke & Roediger 2007, 2008)

— Little research for testing effect and complex tasks (rawson, 2015; Kiuge & Frank, 2014)

— Existing research is inconsistent

l/:) Testing is effective for complex material (e.g. Karpicke & Aue, 2015)

Testing is not effective for complex material (e.g. Leahy, Hanham & Sweller, 2015; van
Gog & Sweller, 2015; van Gog, Kester, Dirks, Hoogerheide, Boerboom, & Verkoeijen, 2015)



Complex tasks

Complex tasks in non-routine situations can consist of e.g. fixed, sequential tasks or

parallel tasks:

Operators first need ‘0 be executed (e.g. start-
up of a plant or error S1 - >A—B xecute the initially learned
standard operating pi , 2014)

Parallel-sequence tasks basically consist of two sequences which have to be
synchronised in time (Proctor & Dutta, 1995; Wickens, & McCarley, 2008; Wickens, 2008). In these

tasks e.g. the operatc > executing a first task,
and both tasks are ey S1 — A1 AND A2 — B s, directed attention
allocation and time-sl| ask (Schumacher et al., 2001) AN

example of such a task is when a pilot is controlling different instruments during
take-off, and consequently has to divide his/her attention according to change
frequency and how valuable and costly the attention is (Moray, 1986)

Dynamic decision making can be defined by multiple, interdependent and real-

time decisions, occur s independently and as a
function of a sequenc S1=X—->A«—B N environment, decisions
under certainty take OR sible alternatives,
consequences and tr A contingent-sequence
task under certainty ¢ S1=Y->A/—B . in which at a special

point or under a special condition, the operator has to perform the next steps
based on a correct gathering of information and interpretation of the situation.




Question

Testing as a refresher intervention supports skill retention better than
practice or no intervention for all three task-types

Hypothesis for Experiment 1,2 & 3

Testing supports performance better than no intervention

Testing supports performance better than a practice (relearning) refresher intervention



Method: Waste Water Treatment Simulation

Process control task: Separate waste water into water and gas
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Method: Waste Water Treatment Simulation

Process control task: Separate waste water into water and gas

101

Schritt

Kalenderwoche:

Homogenisierung

Reinigung

Zwischenlager ‘

Experiment 1
Fixed Sequence Task

LIC V9: Durchfluss 500 ih
Sollwert 500 I/ einstellen
2x Bestitigen mit OK"

V2Folgeregelung deaktivieren

Regler\V2 bedienen
von extern aufintern stellen
Bestatigen mit .OK*

Ventil V1: Durchfluss 500 /h
Sollwert 500 I/h einstellen
2x Bestatigen mit .OK*

Warten bis Inhalt R1 > 2001
Ventil V2: Durchfluss 500 /h
Sollwert500 I/ einstellen
2x Bestatigen mit ,OK*
Warten bis Inhalt R1 > 4001
Ventil V3: Durchfluss 1000 lh

Soliwert 1000 1M einstellen
2x Bestatigen mit ,OK*

Warten bis Inhalt Tank HB1 > 1001

Heizung HB1 einschalten

von Hand auf Automatik stellen

Bestitigen mit ,OK*

Warten bis Inhalt Heizung HB1 > 60°C

Kolonne K1in Betrieb nehmen

von Hand auf Automatik stellen

Bestatigen mit ,OK*
Ventil V4: Durchfluss 1000 lh

Sollwert 10001 einstellen
2x Bestatigen mit .OK*

Ventil V6: Durchfluss 400 lh
Sollwert 400 I einstellen
2x Bestiitigen mit OK*

Start-up in 180 sec

w

Ofir
0[Sl

V5,

Experiment 2
Parallel Sequence Task
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LIC V9: Durchfluss 500 I'h
Sollwert 500 Ih
2x Bestatigen mit OK*

Folgeregelung deaktivieren
ReglerV2 bedienen
von extern aufintern stellen
Bestitigen mit OK"

Ventil V1: Durchfluss 500 'h
Sollwert 500 I einstellen
2x Bestétigen mit ,OK*

Warten bis InhaltR1 > 2001

Ventil V2: Durchfluss 500 Uh
Sollwert 500 I/ sinstellen
2x Bestatigen mit ,OK*

Warten bis InhaltR1 > 4001

Ventil V3: Durchfluss 1000 h
Soliwert 1000 einstellen
2x Bestatigen mit OK*

Warten bis Inhalt Tank
HB1> 1001

von Hand auf Automatik
Bestdtigen mit OK"

Warten bis Inhalt Heizung
HB1 >60°C

Kolonne K1 in Betrieb nehmen
von Hand auf Automatik
Bestatigen mit OK*

Ventil V4: Durchfluss 1000 'h

Sollwert 1000 Vh einstellen
2x Bestitigen mit ,OK*

Fiillhéhe von Tank Bf
kontinuierlich beachten

Tank Bf: Filllhéhe > 75%

FICV8: Stellgréfe 90%
Stellgréfe 90%
2x Bestitigen mit ,OK*

Heizung W2: 70°C
Sollwert 70°C einstellen
2x Bestitigen mit ,OK*

Tank Bf: Filllhéhe < 25%

FIC V8: StellgroBe 10%
StellgréRe 10%
2x Bestatigen mit ,OK*

Heizung W2: 20°C
Soliwert 20°C einstellen
2x Bestatigen mit OK*

VentilV6: Durchfluss 400/ih
Sollwert 400 I/h einstellen
2x Bestatigen mit ,OK*

Start-up in 240 sec

Wochentag:

Gaswasche

LIC VO: Durchfluss 500 /h

en

Montag

Endlager

Sollwert500 I einstellen
2x Bestatigen mit OK*

extern aufintern stellen

Ventil V1: Durchfluss 500 th
Wartenbis Inhalt R1 > 2001

Ventil V2: Durchfluss 500 ih
Wartenbis Inhalt R1 > 4001

Ventil V3: Durchfluss 1000 1'h
Wartenbis Inhalt Tank HB1 > 1001

Heizung HB1 einschalten

igen mit OK*

Sollwert500 I sinstellen
2x Bestatigsn mit OK*

Sollwert500 Ih einstellen
2x Bestatigen mit OK*

Sollwert 1000 1M einstellen
2x Bestatigen mit OK*

von Hand auf Automatik
Bestitigen mit OK"

Warten bis Inhalt Heizung HB1 > 60°C

Kolonne K1in Betrieb nehmen

Ventil V4: Durchfluss 1000 'h

Ventil V6: 4001ih

von Hand auf Automatik
Bestétigen mit OK"

Sollwert 1000 1h einstellen
2x Bestatigen mit OK*

Soliwert 400 Uh einstellen
2x .

Einschatzung der folgenden Schritte abhangigvon Parametern

Wi= 15°C

LIC V8 deaktivieren
LIC V8 extemn aufintem
Bestitigen mit OK"

LIC V9: Durchfluss 700 /h
Sollwert 700 Ih einstellen
2« Bestitigen mit ,OK"

LIC V8: Durchfluss 500 ih
Sollwert500 I/ i Il

W2<70°C

LIC V8 deaktivieren
LIC V8 extern aufintern
Bestitigen mit OK"

LIC v9: Durchfluss 600 h
Soliwert 600 Ih ainstallen
2 Bestitigen mit OK"

LIC V8: Durchfluss 400 I'h
liwert400 Uh einstell

2x Bestitigen mit OK*

Heizung W1 auf 15 °C
Sollwert 15 °C einstellen
2x Bestatigen mit ,OK"

Start-up in 240 sec

2x Bestatigen mit .OK*

Heizung W2 auf 70 °C
Sollwert 70 °C einstellen
2x Bestatigen mit OK"
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Method Exp. 1-3: Participants & Procedure

Participants
Experiment 3: Contingent

N=57 (18 female) N=60 (16 female) N=58 (22 female)
Age: 21.88 (3.14, 18-31) Age: 23.45 (3.57, 19-36) Age: 22.76 (3.11, 17-32)

Procedure (Exp. 1-3)

Initial Training Retention
Assessment

30 min 60 min 10 min ~30 min 30 min
Pre- ini 1 week ; 1 week
Practice-RlI Training J\;:‘:&g% Test 1 > Pralgltlce P» | Test2
Phase
Pre- .
. Test
Test-RI Training (-K;z':l:r;?) Test 1 > SIS » | Test2
Phase
Pre- . 2 weeks
Control
Group Training (TI\;:L?J;?) Test 1 P | Test?2
Phase




Method Exp. 1-3: Variables

Production outcome

>
-
-
-
-

Refresher Intervention > Skill retention

(after two weeks)
V4
/!

2!
ya
Practice-RI
/
1

Test-RI




Method Exp. 1-3: Variables

Refresher Intervention

/
/

/I — ~25 minutes — ~25 minutes — ~25 minutes
1! — Group session — Group session — Group session
Practice-RI — 4x execution of WaTrSim  — 4x execution of WaTrSim  — 4x execution of WaTrSim
- task task task
/ — ~20 minutes — ~20 minutes — ~20 minutes
/ — Single session — Single session — Single session
T — 1x execution of WaTrSim  — 1x execution of WaTrSim  — 1x execution of each
est-RI . : L . : L ) .
task in testing situation task in testing situation WaTrSim task conditions
— Coverstory — Coverstory in testing situation
— Coverstory
~| A small town called ‘Feldkirchen’ needs the participants’
E help. The participant was told that she/he is responsible to
"(7‘] start-up the plant and produced as much water as possible
- to save the water supply. In addition, the participant was
g asked explicitly to concentrate and focus all attention on
O the task. It is emphasised that she/he has only one chance
O to start-up the procedure correctly. 10




Method Exp. 1-3: Variables

Refresher Intervention

Practic’e—RI

/

/
L

Test-RI

0 0 ~N oo o b

-
o

12

13

LIC V9: Durchfluss 500 ih

= Sollwert500 I einstellen

= 2x Bestitigen mit ,OK"*

V2 Folgeregelung deaktivieren
= ReglerV2 bedienen

= vonextern aufintern stellen

= Bestitigen mit LOK*

Ventil V1: Durchfluss 500 /h
[wert 500 I einstellen
igen mit .OK*

Warten bis Inhalt R1> 4001

Ventil V3: Durchfluss 1000 /h

= Sollwert 10001h sinstellen
= 2x Bestitigen mit ,OK"

Warten bis Inhalt Tank HB1 > 1001

Heizung HB1 einschalten

= vonHand auf Automatik stellen

« Bestitigen mit OK*

Warten bis Inhalt Heizung HB1 > 60°C

Kolonne K1in Betrieb nehmen
= vonHandauf Automatik stellen

= Bestatigen mit ,OK*

Ventil V4: Durchfluss 1000 lh
= Sollwert 1000 I/h einstellen
= 2x Bestatigen mit .OK"*

Ventil V6: Durchfluss 400 I/h
= Sollwert400 I/ einstellen
= 2x Bestitigen mit OK"
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LIC VO: Durchfluss 5001ih
« Sollwert5001h
= 2x Bestitigen mit OK"

Folgeregelung deaktivieren
© ReglerV2 bedienen

* von extem aufintern stellen
« Bestétigen mit OK*

Warten bis InhaltR1> 4001

Ventil V3: Durchfluss 1000 1th
= Sollwert 1000 I/ sinstellen
= 2x Bestétigen mit, , OK"

Warten bis Inhalt Tank
HE1> 1001

= wvon Hand auf Automatik
= Bestétigen mit OK"

10 Warten bis Inhalt Heizung

11

12

HE1 > 60°C

Kolonne K1in Betrieb nehmen

= von Hand auf Automatik
= Bestitigen mit OK"

Ventil V4: Durchfluss 10001ih

= Secllwert 10001/ einstellen
© 2x Bestatigen mit ,OK*

Fllnghe von TankBf

" kontinulerlich beachten
Tank Bf: Fiillhéhe > 75%
FIC V8: StellgriBe 90%

© = Stellgrofe 90%
= 2x Bestatigen mit ,OK*

Heizung W2: 70°C
[ = Sollwert 70°C einstellen
= 2x Bestatigen mit .OK*

!

[ TankBf:Flllhhe < 25%
o

= StellgréRe 10%
= 2x Bestatigen mit ,OK*

Heizung W2: 20°C
[ = Solwert 20°C einstellen
= 2x Bestatigen mit ,OK"

Ventil V6; Durchfluss 400 h
1% % Sollwert 400 I einstellen
= 2x Bestitigen mit ,OK*

LIC V9: Durchfluss 500 Vh

(X}

VentilV1:

©

V2 Folgeregelung deaktivieren

Experiment 2 Experiment 3

Sollwert 500 h einstellen

« 2x Bestatigen mit OK*

extern aufintern stellen
Bestitigen mit OK*

Sollwert500 I/ einstsllan

4 Wartenbis Inhalt R1 > 2001

O Ventilvz:

2x LOK*

 Wartenbis Inhalt R1 > 4001

o VentilV3: 1000 1/h

= Sollwert500 h einstellen
. OK*

- 2

= Sollwert 1000 1h einstellen
i it OK*

4 Wartenbis Inhalt Tank HB1 > 1001

9 1

* von Hand auf Automatik
=B igen mit OK*

10 Warten bis Inhalt Heizung HB1 > 60°C

11 Kolonne K1in Betrieb nehme:

12 Ventilva: 1000Vh

* von Hand auf Automatik
© Bestatigen mit OK*

= Sollwert 10001h einstellen
= 2x Bestii i

Ventil V6: Durchfluss 400 lih

mit ,OK*

400 I einstellen
tigen mit OK*

gvon Par@tern:

aktiviere|
tem
LIC V9: Durchfluss 700 Vh LIC v9: Durchfluss 600 Vh
10 Sollwert700Uh einstellen |7 I einstell
2« Bestitigen mit ,OK" 2x Bestatigen mit OK"
LIC V8: Durchfluss 5001ih LIC V&: Durchfluss 400 Ilh
17 Solwert500Uh einstellen | Sollwert400 Ih einstellen
2x Bestatigen mit OK* 2x Bestatigen mit OK*
Heizung W1 auf 15 °C Heizung W2 auf 70 °C
18 GSolwert15°Coeinstellen 17 Soliwert 70 °C einstellen
2x Bestitigen mit ,OK* 2« Bestitigen mit .OK"




Results

1 *
Hypothesis 1 Production outcome

Testing > No intervention

600
—  Effect of time
(F(1,36)=125.74; p<.001; n°,=.777)
P 500
—  Effect of group
(F(1,36)=2.98; p=.093; n",=.076)
— Interaction 400
(F(1,36)=0.38, p=.544; n2p=.010)
300
Hypothesis 2
Testing > Practice Refresher Intervention 200
—  Effect of time Testing
(F(1,37)=57.83; p<.001; n°,=.610) 100
—  Effect of group Control group
(F(1,37)=0.56; p=.458; n’,=.015) 0
— Interaction IT RA

(F(1,37)=5.21; p=.028; n*,=.124)

* Amount of produced production outcome depends on task 12



Results

1 *
Hypothesis 1 Production outcome

Testing > No intervention

600
—  Effect of time

(F(1,38)=400.67; p<.001; n°,=.913) -
—  Effect of group N
(F(1,38)=3.83; p=.058 n°,=.091)

400
300
: Practice
Hypothesis 2
Testing > Practice Refresher Intervention 200
—  Effect of time Testing
(F(1,38)=83.80; p<.001; n*,=.688) 100
—  Effect of group Control group
(F(1,38)=1.32; p=.258; n°,=.034) 0
— Interaction IT RA

(F(1,38)=12.68; p=.001; n’,=.250)

* Amount of produced production outcome depends on task 13



Experiment 3: Contingent sequence task

Results

Hypothesis 1
Testing > No intervention

—  Effect of time

(F(1,36)=100.80; p<.001; n",=.737)
—  Effect of group

(F(1,36)=4.85; p=.034; n",=.119)

Hypothesis 2
Testing > Practice Refresher Intervention

—  Effect of time

(F(1,37)=76.54; p<.001; nzp:.674)
—  Effect of group

(F(1,37)=1.19; p=.283; n",=.031)
— Interaction

(F(1,37)=0.18; p=.677; nzp:.OOS)

* Amount of produced production outcome depends on task

Production outcome*

600

500

400

300

200

100

Testing

Practice
Control group

IT RA

14



Post-hoc: What is the benefit of Practice?

Practice Trial 1 to Practice Trial 4 Testing WFix MParallel EContingent
450 450
400 400
350 350
300 300
250 250
200 200
150 150
100 100
50 50
0 0

Practice 1  Practice 2  Practice 3 Practice 4 Testing 1 Testing 2

(second condition)

— Rehearsal Practice supports learning
— Testing of two different conditions supports also learning

15



Discussion

— Testing effect for complex cognitive skills was not shown
— Fixed sequence task: Practice > Testing
— Parallel sequence task: Practice > Testing
— Contingent sequence task: Practice = Testing

— Testing was not able to support skill retention of the complex tasks

— Rehearsal practice supports learning and understanding of
complex tasks that require a precise execution in a predefined time

— Two testings in a row support also learning
— Testing trials that differ in difficulty might induce an added

value (Brown, Roediger, & McDaniel, 2014)

— Two consecutive testings have a similar effect as Practice

16



BUSINESS- M

Thank you for your attention ©

merle.lau@rub.de

barbara.frank@rub.de

annette.kluge@rub.de
-V v

17



